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1. Answer the following questions in 1 word or
in 1 sentence each : 1x10=10

Wﬁmmmwmwm Gb] TS
firar

(a) Who was appointed as Finance Minister
of France after Necker?
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(b)

(c)

(d)

(e)

(9)

(2)

Who wrote—“Man was born free, but 18
everywhere in chains’?

@i faffes— arpR o tafem T@eIcd, &2
SRS T (2 SR 2

Who was Villele?

S @ =few 2

Who presided over the Congress of
Vienna?

S wxwres wurser e fifee 2

Who was the Emperor of France during

the February Revolution?

FRR ReR e w515 o e ?

Who j
© Invented the flying shuttle’?

( Conﬁnued

)

(h)

(1)

0)

2. Answer the following questions briefly : 2x5=10

(3)

What was baronet?

Baronet & =fes 2

What does the word

industrialization’ mean?

il Srammeae’ T L2

‘capitalist

What was mezzadria?

Mezzadria & w1%e 2
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(b)
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What was ‘Bastille’ and when did it fall?
ccfper B e e TR e (oAl wafeE 2

What was
Revolution’?

afifcelfRam e’ & e 2

the ‘Thermidorian

State two principles adopted by the
Vienna Congress.
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(d)

(e)

(4)

Who established the Bank of England’
and when?
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Mention two social

: layers of the
bourgeoisie class.
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5x4=20

(e)

(S)

Proletariat

*NGQ 7G @

Labour Movement of the 19th Century
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4. Answer any four of the following questions :
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(@)

(b)

(c)
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10x4=40

Describe how revolutionary ideas of the
French Revolution gave birth to the

concept of gender equality.
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Give an account of the ‘Continental
System’ of Napoleon.
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Evaluate the Concert of Europe. Why

did it fail?
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(7))

(6)
) (h) Give a description of the economic
(d) Discuss the causes of the February development of Germany after its
Revolution of 1848, Unification in 1871.
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(e) What kind of transformation was b
brought into the social life and
agricultural sector of Europe due to
ndustrialization anq rise of capitalist

i .
conomy? What were the results of this
transforrnation?

demographj, trend of
the late 18th Century-

(g) Wl‘ite an
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